H3(PO4)  +  3KOH  (  K3(PO4)  +  3H2O

The above reaction is started with 20 g of H3(PO4) and 30 g of KOH.
A. Determine the limiting reagent.

B. Determine the amount of each product produced.

C. Determine the mass of excess reagent left over.


Zn  +  2HCl   (  ZnCl2  +   H2

The above reaction is started with 10 g of zinc and 36.46  g of HCl.

A.   Determine the limiting reagent.

B.   Determine the amount of each product produced.

C.   Determine the mass of excess reagent left over.


The above reaction is started with 80.0 g of copper and 25.0 g of sulfur.

A. Determine the limiting reagent.

B. Determine the amount of each product produced.

C. Determine the mass of excess reagent left over.

Limiting Reagent Vocabulary

Reagent/Reactant:  Any chemical on the left hand side of a chemical equation.

Product:  Any chemical on the right hand side of a chemical equation.

Limiting reagent:  The chemical that will LIMIT how much product can be made.

Excess reagent:  The reactant on the left hand side that will be in excess; meaning some of it will be left over because it does not get used up.
Steps for Determining the Limiting Reagent

1.  Convert each amount of reactant given to moles; Label as amount “Have”.
2. Randomly chose a reactant that has been converted to moles, apply stoichiometry to convert to moles of the other reactant; Label as amount “Needed”.
3. Compare the “Have” to the “Needed” amount.  If you HAVE more than is NEEDED, this reagent is in excess.
Classwork: Limiting Reagent

NH3  +  O2  (  NO  +  H2O

The above reaction is started with 2.0 g of ammonia and 2.0 g of oxygen.

A. Determine the limiting reagent.

B. Determine the amount of each product produced.

C. Determine the mass of excess reagent left over.
Al  +  Cl2  (  AlCl3
The above reaction is started with 5.0 g of aluminum and 3.0 g of chloride.

Same 3 questions as above.
Copper reacts with sulfur to form copper (I) sulfide.  Write the balanced equation.











